
SWIVEL BASE STAND

COUNTER

CABLE CLIP

UPPER ANTI-SKIMMING
LOCKING BRACKET

CREDIT CARD MACHINE

3X #10 X 1.00 LONG
TAMPER RESISTANT SECURITY SCREWS

CABLE CLIP

MACHINE CABLE

#8-32 X .31" LONG
PHILLIPS SCREW

KEYHOLE STANDOFFS

DETAIL A

M3 X 8MM LONG
BUTTON HEAD CAP SCREW

TOOL LIST:
1. 5/32 TAMPER RESISTANT HEX WRENCH (ENS P/N 367-1046)
     OR 5/32 TAMPER RESISTANT HEX BIT (ENS P/N 367-1102) WITH
     SOCKET DRIVER. ENS PARTS EACH ORDERED SEPARATELY.
2.  #2 PHILLIPS SCREW OR DRILL DRIVER
3. 2.00 MM SHORT ARM HEX KEY(PROVIDED)
4. 9/64 DRILL BIT ( .141")  DRILL BIT & DRILL DRIVER

ASSEMBLY STEPS:
1.  USING THE SWIVEL BASE STAND AS A TEMPLATE, ROTATE LEFT/RIGHT
     TO STOP POINTS TO DETERMINE DIRECTION OF SWIVEL BEFORE MOUNTING.
2.   (OPTIONAL) DRILL A 1 3/8" (1.375") THROUGH HOLE INTO YOUR COUNTER
      AS SHOWN. 
3. MARK MOUNTING LOCATION ON COUNTER
4. DRLLL 9/64 HOLES IN MARKED LOCATION ON COUNTER
5. ATTACH THE STAND TO THE  COUNTER BY USING THE
    3X #10 X 1.00 LONG TAMPER RESISTANT SECURITY SCREWS AS SHOWN.
6. INSTALL THE M3 X 8MM LONG BUTTON HEAD CAP SCREW TO THE 
    UNDERSIDE OF THE CREDIT CARD MACHINE AS SHOWN 
    IN DETAIL A.
7. ASSEMBLE THE CREDIT CARD MACHINE TO THE SWIVEL BASE STAND
    BY SLIDING IT ONTO THE KEYHOLE STANDOFFS AS SHOWN.
8. ROUTE THE MACHINE CABLES AND ATTACH THE CABLE CLIP USING THE 
    #8-32 X.31" LONG PHILLIPS SCREW AS SHOWN
9. CLOSE THE UPPER ANTI-SKIMMING LOCKING BRACKET AND LOCK.

REVISIONS

REV DESCRIPTION DATE BY CHK'D

A 10/31/23 JVT JVT

D

C

B

A
A

B

C

D

12345678

8 7 6 5 4 3 2 1

THE INFORMATION CONTAINED IN THIS DRAWING IS THE SOLE PROPERTY OF HAVIS, INC. AND REPRODUCTION IN PART OR IN WHOLE WITHOUT THE WRITTEN PERMISSION OF HAVIS, INC. IS PROHIBITED.

DRAWN DATE

TITLEDWG.  NO. REV.

SHEET 1 OF 1 CUSTOMER INSTRUCTIONS10/31/2023J. TERVEER

A367-6291

VERIFONE M450
CONTOUR ANTI SKIMMING, LOCKING

HAVIS SWIVEL BASE STAND LOW


	CUST INSTR(2)
	Drawing View127
	Drawing View142
	Drawing View143
	Detail View A (1 : 2)


